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MEC-002 : MACROECONOMIC ANALYSIS 

Time : 3 hours 	 Maximum Marks : 100 

Note : Answer questions from each section as directed. 

SECTION - I 

Answer any two questions from this section in 
about 500 words each 2x20=40 

1. Consider the decentralised household problem in 
the Ramsey model Derive the conditions for 
modified golden rule. Interpret the equation with 
the help of phase diagram. 

2. Briefly discuss the life cycle hypothesis and 
permanent income hypothesis of consumption. 

3. What is meant by steady state ? Derive the 
condition for steady state in the Solow model. 
Does it imply maximum consumption in the 
economy ? 

4. Explain why there could be dynamic inefficiency 
in an economy according to the Over-lapping 
Generations (OW) model 
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SECTION - II 
Answer any five questions from this section in 
about 250 words each. 	 5x12=60 

5. Explain why there could be rigidities in the prices 
and wage rate. 

6. Explain the phases of a business cycle. How does 
political business cycle theory explain the phases ? 

7. What is meant by convergence in growth ? How 
do endogenous growth models explain divergence 
in growth rates ? 

8. What are the major issues on which Lucas 
criticises the Keynesian model ? How relevant 
are these issues in the present scenario ? 

9. Discuss the implication of downward sloping 
Phillips curve. Why could the Phillips curve be 
vertical in the long run ? 

10. Bring out the main features of search model of 
employment. 

11. Explain why monetary policy is not effective in 
an economy with fixed exchange rate. 
Substantiate with appropriate diagram. 

12. Write short notes on the following : 

(a) Real business cycle 

(b) Rational expectations hypothesis 
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